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1. FAEKR
aft | kew | ke |mukr| GRL, | ween | BEED
a5t = A : : j:j 942 13 771 37 10 111 0
FERS | o183 314 8811 295 18 742 3
%E w A A 320
%? p . 482 8 373 27 5 69 0
£ FERS 5,507 213 4,719 133 9 432 1
_— = A : ZZ 460 5 398 10 5 42 0
FERE | 676 101 4,002 162 9 310 2
Fotsyr—=| =R e 0 60 4 0 0 0
SME | gmpat | 1,612 0 1,128 81 0 403 0
2. FREFHH
ait | KB | K% | mEKR | gha,, | wewr | BT
- =5 :ZO 221 13 172 13 3 20 0
f!j FERE | )08 56 2,236 133 3 347 0
- — =A ::(:6 154 6 122 10 3 3 0
ﬁ FERE |04 37| 1541 103 3 287 0
% . = A ::13'2 67 7 50 3 0 7 0
FER | 7 g4 19 695 30 0 60 0
3. MBI HH
Bi | KB | kP | EMKE | g, | BEeR | R
- é"}i : jzz 264 3 195 41 0 25 0
@ FERE Lo 25 1,711 87 0 158 0
154: - = A _ 29'1 140 0 82 38 0 20 0
% FERE | go6 13 739 62 0 82 0
o ug (2%, 3 113 3 0 5 0
iz ~ (A 80
FER 1,085 12 972 25 0 76 0




4. TABMH

= TV
aft | kb | kg |EmKE | GRE | S | BEED
" 2393
&%t SR 37 0 27 2 0 8 0
= A ==y |A 225
?ﬁﬁ FERE 227 6 186 10 0 25 0
2 wpg |
L — 21 0 13 1 0 7 0
B +F EEac |22
p ERE 105 2 89 2 0 12 0
#) s A 304
% 2 = A 16 0 14 y 0 y 0
- = |A 218
FERR 122 4 97 8 0 13 0
= NSRS
BE | k¥R | A% | @WK | ghe, | Eeer | BEED
” 79
- =R 299 10 225 13 0 51 0
" = Ra 2,205 56 1,688 110 1 350 0
A wpg |20
i - 116 3 87 3 0 23 0
w| TEF FE R A 240
e ERE 815 24 711 14 1 65 0
s 525
- =A 183 7 138 10 0 28 0
BEZE oy |AT3
FERE 1,390 32 977 96 0 285 0
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R RAH
SHCEE | DHSEE | FM6EE | FHSEE
e 270 118
141 111 341 305
— 77 A63
FERE 2,331 2,164 7,095 7,574
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